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����	� ���� TI � are independent of each other, both
problems (4-5) and (6-7) are NP- complete, and, an

optimal solution can be obtained only by means of
implementing an algorithm (mainly by means of
dynamic programming) that checks the feasibility of
all possible combinations of Q elements from N ,

while Q  itself changes from 1  to N . If N  is high
enough, the corresponding algorithm requires a lot of
computational time according to the justification
outlined in [1]. We suggest using a heuristic procedure
based on cost-sensitivity. Note, that if relation
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�	�� C  to carry out technical
improvements, and the system’s reliability value R .
In order to simplify the problem assume that, similarly
to the model outlined above, all technical
improvements are additive, i.e.,  additional system’s

reliability  { }QR ξξ∆ ,...,1  obtained by implementing
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are taken as the quasi-optimal set { }TI to be
implemented, with objective
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